
. . . work to do even with a “cheat sheet” . . . .
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4. First replace x2. Let w = 4x2 =⇒ dw = 8xdx =⇒ 1
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Now use #20, with a = 1 and u = w
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5. Use #113 with 9x2 = u2. Let u = 3x =⇒ 1
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6. First replace cos 3x. Let w = cos 3x =⇒ dw = −3 sin 3xdx.
So −1
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Now use #49, with a = b = 1.
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